Practice Exam 2
Muitiple-Choice

A large company is interested in improving the efficiency of its customer service and decides to
exarmine the bangth of the business phone calls made to clients by its sales stuff, A cumulative
relative frequency graph is shown below from data collected over the past year,

According 1o the graph, 0% of the calls will take how long 1o complele?

(A}  Last than 10 minutes,
(B)  Atleast 10 minutes.
{C}  Exactly 10 minutes.
{D)  Atleast 5.5 minutes.
{E}  Less than 5.5 minutes.

A radio station is interested in predicting the propostion of registered voters who support an
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favoied or opposed such an i 1744 i logged on and 922 (53%) were against the
increaze. Which one of the following is NOT a comrect statement about posgible biasinthe .
sampling procedure?

(A)  Only people with Iniernet access would be counted.
{8) 1744 is quite a large sample, &0 any bias that might have occwred can be oversome.
{Cy  Ouly people listening to the station would be counted.

(D}  Those who responded may not cven be registered votess.

(B  Ttis likely that ooly those who feel p ty abowt the propeasl would

4,

A recent newspaper article cited a poll that reposted 4% of the adults in Wyoning befieved that
overcrowding might be a setious problem, while 36% of the respondents in Californis had the
same opini ._..ro port .&nzi_-__. e of 20% of the population of the two states felt
that & was therefore a p A wtati criticized the article saying the
conclusion was F!ﬁu&n Which one of the following reasons supports the gtatistician’s

objection?

{A)  The number of people in the twa stales is very differont, thus aversging is inappropriate.
{B)  The polls did not represent an SRS from cach state. Wyoming hes less overcrowding than
California, 50 the results are biased on this issue,
{C)  Thewticle should have given the cofrect statement sioce 40% of the proplc in the _.o=
believed that overcrowding might be a serious problem.
(D) The sample size from each state was ot large gh 10 suppost a 95% confid
interval,
{E} If equal-size samples bad been taken from each state, the resulls o..._-n_—-ﬁen!
averaged. _
A pational tabloid paper warits 1o estl the true proporti
life exisis elsewhere in the universe. What is the Jeast .EEeR of pesple that should be sampled
in order to csti the true proportion of those who belleve that (ife exitts clscwhere within 4%
of the real answer with 95% confidence? Past duta indicate that 3% of the general population
holds ihis belief,
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A medical society condutls 8 stody to determine if heart attuck ..En,aua £E arive at the o_a.
heapital on nights aud weekends wait longer for an srtery-cleard i than patisnts who
artive at the city hospital during regadar hours. gﬁigggngiﬁ
no longer than 50 minutes from the time they enter thve eowagency room. The hypotheses for this
study wese H,: u) = g and H, 3 gy > gy, where 1 = e mean walting time for heart attack
sufferers whe would srrive at the city hospital at night or on weekends and y, = tusmean
waiting time for heart attack sufferers who would asrive at the city hospital during regular hours.
It was found that the mean waiting time for the random sampie of those golng to the hospital at
wight or on the weekend was X, =116 minutes, while those in the random sample arriving during
regular hours had & mean waitiog lime of X, = %5 minutes. The P-value for the resulting test was
0.016. Which one of the following is 4 comect conclusion for this test?

(A}  Since X>X,, we can conclude that g > 11, .
(B}  There is enough evidence at the 53% level to conclude that z, > g0,
{C}  The abserved difference betweea X, and X, is significsnd sl o = 0.01.

{D)  Since the P-value is 0.016, we would fail to detect sny difference betwesn the two means.

{E}  Only L.6% of the time will s = s,

Which below
ohaervational shady?

P {5 & major advantage of an experimental study relative to an

(A)  Experimental stidies are usualiy bess expensive to conduct.

. {B)  Experimental data are more readily avaitable.

) Yo .._.a& fewer subjects i in an experiment,

A efficiency sxpen wanted to see if these i5 a relati ",‘-
mmummmdebwumhmmmmmmnmumomm

D) E 1 studies provi ger evidence of cavse-and-clfect mlationships.
{E) mxvn..!n.s_ studies rely on dats from treatments, 2o it i sasier to assess any limitations
on the scope of inference.
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regults with the accompsnying scatier plot (Figurs 1).
Figure 2 represents the scatterplot with the point (10, 7) removed from the data.

7.

Which ape of the foflowing is TRUE about the point (10, 7)?

gression ¢ test changes little when the point is semoved. |

The carrelation is lower with the removal of the point.

Tt is wn influential observation.
It is oot 4n owtkier in the x-direction.

Tt has the jargest residual.
The P-value of 4 linear re,

A)
®)
©
@)
&




A sports physiologist wants 10 oMy the etfects of two different exercise machines, A and B,
on the flexibility of gymoasts. There are 20 gymnasts availsble. All gymoasts have been glven 2
flexibility rating before the experiment siarts, A similar patings test will be given at the end of the

experiment. Which one of the following methods of assigoing gy to machines would be
EEFS&GSEE?&H%EE%%S:—«%»

(A}  Randomty sssign a number (01 through 20) to each gymnast. Match the gymnasts by
consecutive number (.., 1 with #2, #3 with #4, etc.). Theu sssign the cdd-numbered
gymoest in each pair to machine A E&Eougsuagﬁag?!ﬁ.iﬁwm

(B)  Haveall the gy ts use both machines. A tvin flip will deteemine which machine is
used first,

group to use machine A and the other group to use machine B. . .
(D}  Match each gymnast with 2 gymwast who has the same years of experitnce, training
level, and gymnastic ability. Then flip a coin 1o assign tach paic of gymnaits to one of the
two machines. .
(E)  Match each gymnast with a gymnast who has the sume years of expericnce, aining
level, and gymnastic ability. Flip a coin to assign one member of the pair to machine A
and the other to nachine B.

strongly skewed to the right with a mean of 2.3. An SRS of size n = 15 is taken from the
population and the sumple mean is computed. This p is rep
one of the following best deseribes the chape of the resulting distribution of semple means?

(A)  Skewed 1o the right with a mean of 2,3 goals,
2.3
Skewed to the right with » mean of onls.
{B) righ ﬁ. g

(C)  Approximately normally distributed with & mean of 1.3 gouls.
23
D Approxi 1y )y distributed with a mean of goals.
D y 75
(E}  Binomially distributed with & mean of 2.3 goals.
The beacph . below rep t the distributions of average monthly temperatare of five cilies over

a theea-year period.

Which enc of the following statements is FALSE?

{A) ;5iﬁﬁn§§<ﬁa3€§o§%§aw§
(BY ?&tmﬁsszgnaﬁnrag&gg%.mm;.

(C}  There are nio outliers in any of he tsmperatore distributions.

@ All of the average hty temperahures in San Diego are above the median average

t for Mew York.
Py perature distribution is skewed to the right.

() Ateota's

(C)  Flip u coin to sssign the gymnasts into two groups of 10. Flip the coin agsin to assign one

T Iemno-_u-nu?a_wﬁn!ﬂor:?_.-gowh!uﬂwﬁ.n—ﬂaglégﬁ

ted u total of 375 times. Which

To determine the viscosity of a liquid, scientists meagire the length of time it takes for a fixed

amount of ibe liquid to run through = tube. Two different types of motor of] wers compared. The
firet type of oil nd a mean iime of 10 ds with & sandand deviation of 2 ds. The d
type of oil had a mean of 14 seconda with a standard deviation of 3 seconds, One can of each type
of il is randomly selected. The difference between the lengibs of time # takes for each can of oil

to run through » tube is calculated. If this p were repeated 500 timeas, the mean of the
differences would be 4 seconds, with s deviation of
(A) S seconds
{B) 13 seconds
{C} [secomd
5
seconds
@} quﬂ
5
seconds
® Tm
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Wo‘ﬁj._.._m 10 data from Major Leagus Baseball, the mean salury for professional major league

phayers for the 2002 season ond decides t

hay been i ing for the past 15 years. A sporawriter looks at the dats for all
A 8 95% confid iterval for the mean

E?«L_uggg.gin&aﬁi_ i jter’
orell R as?n_miog:s.__«n.ai:ﬁ:

(A)
(B)
©

@
E)

The ¢ distribution is used for infe about z

The sporiswriter did not take a simple randotn sample,

}Qi.mn_guo intorvat should net be constructed when population data ere known.
Sivee very few ball players make over $20,000,000 a Yyear, the data sre highly skewed,
which violates a necessary condition far constracting a confidence interval.

Since dve sumber of players is not listed, the dogrees of freedom are unknown.

cumﬁ??wmggqanowg_uaiﬂgas_oiésog from provious
years. -

sihaations¥

(A)
®)
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(E)

population mean in which of the fodtowing

_m”o”._u_ cases whare the size of Ibe random sample is smisil, irrespactive of any other
Ir 8

Whenever a confidence intarval for means with a confidence lsvet of 90% or higher js
constructed.

In all cases where the sample size is small, the populstion i i
standard devistion, o, is known. o * 0 the por
The population is 1 and the populati fard deviation is

estiruaicd based aan-qnap__ E_._m; sample.
‘Whenever n(p) <11 and n{1 -ph< 10,

Suppase that 28% of the vehicles in 2 certain town are trucks, A
; b L . A person is standing at an
intersection waiting for » friend to _w.o_n SJ— m_u. LetX = the numbes of vehicles that drive by until

4 truck passes the observer. A g the independ, of pasging vehicle whil

the foitowing best describes the probability distribution of 47 Ypes, which ane of
(A}  binomial

(B)  geometric

) rormal

@) twithdf=27

(E)  chi-square
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Many times the weatherperson on the Jacal news station weather report will give scveral different
high temperaiures (in degrees Fahrenheit) for the same city, such es the high tempersture
downtown snd the high temperature st the sirport. Let g, = the true mean daily high temperature
downtown and g, = the troe mean daily high temperature at the airport. Based on & tandom
sampie of 200 days from the past $ix years, & $5% confidence interval for the mean differences,
Hy = p, ~ j, between the sirport and downtown temperatures was consiructad, This interval iy

given by Alu.uo, -1 .wev‘ Which one of the following is e comect conclusion based on this
interval?

(A}  Themean temperature ot the airport is only 35% as warm as the mean temperature

downtown,
The mean tempersture al the airprt is cooler than the mean temperaturé downtown on 95

out of every 100 days. .

Ninety-five percent of the time, the true mean difference in temperatures is between

1.9%and 5.3%

We are 5% confident that the maan temperature at the airport is between 1.9 and

5.3° degrecs céoler than the mean temperature downtown.

We are 95% confident that the mean temporature at the airport is between 1.9* and
_ 5.3% degrees warmer than the mean temperature downtown,
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Ome of the biggest recurring expenditares for a college student is the cast ef textbaaks, One
recent survey indicated thet shudents and parents spent twice as much op books aa they did on

clothing, In a random sample of 255 students at colleges and universities acroas the country, it
was found that students spent an averape of 5875 on textbaoks for the year with a standurd
deviation of $88. Which one of the following represents the approximate margin of eryor for a
98% confidence interval for estimating the true mean cost of textbooks for U5, students?
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i m " dications, >w=._w,8monizn_.w‘.
>v§§=ﬁﬁ8§u§u§a3.§=§§-&q&_§=ﬁ : ;
most effective in relicving the reflux ins the shortest amount of time. The ﬁnkﬂ__oauo %5
the twa medications in thres dosages: 50 mg, 100 mg, and 150 ..._n.q.rnw_upﬁ— ,_.Mns .
available for the study. For this past omm.u u.n_..iw. -Eﬂﬂgnﬂﬁﬁ”g the !miw_“nuﬂ ot

H j inci pease. Volunteers ' -
might play a role in the incidence of reflux Mot u«ﬂ!&&.gi.. o ue..n.._.oonu?

i iect the next six heaviest, and 50 o, iights I .
ﬁ«ﬂn””ha_”no”& ssxigned to medicaiion A and three to medication B. Within cach medication

group of three, one is rendomly assigned lo each dosage. ‘Which one of
best destribes this experiment?

ocked on weight, and the response varisble

(A)  There are two treatments, participants were bl
is time until puin reficCis achicved. " varlable
(B}  Thercaretwo ESF participants were

R .&saﬁsm were blocked on medicatlon A snd B, and the

i
(C)  Thereare thee qe.u..ss..ﬁ.m-:& participants who achioved pain relict

pants were bincked on weight, and the responae varisble

ked on dosage, and the resp

There are $ix treatments, partick

o) A
; £ partich who achieved pain rellef. i
(E) dﬁ_u u-“u“.hﬁuﬁo... e:ﬂv&d::gwn _uﬂ..sz:_.a_usa were bjocked on weight, and the respornse variable
is time until pain relief is achieved. . —

20.

Accotding to n regional blood bank, 13% of the first-time dogors return to make a second

donation within three months. In the fall of 2001 tracked i .
that 334 donated _upnsooaz_mani.ﬁg‘ i E_.onan.nw_”w Which Sﬁhuaﬂwgé.gnhwﬁﬁ _.m. me.mm
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The mean blood pressure Tot 47-year-old males i Bve Uniisd Staies & normally distributed with a & hwwm w —
raesn of 139 mg and » standard deviation of 26 mg. A doctor tells n 47 year-old male patiens that .2 < am <@g
he is in the lowest 19% of all people in this population. Which one of the values below is nearest W
to the patient’s actual blood pressure? . 2 4
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who claimed to be vegetarians. This chass found 12 out of the 150 atadents questioned were .m m
vegetarians, Another siatistics clast in snother school took & similar random sample of the i28
uﬂ:-nn_u553&3.5&?5&5!0@5&3&&35-843&5‘ Which one of the Wm
Tfollowing rep ts the approximat 90% confidence interval for the difference berween the o i
_".Evoaaﬁunm_s_nﬁnwﬁugﬁgwﬁsgzogsgioﬁga o
Eu
E
OB 0% m.m
@ 02t ps| LRI xﬁ B2 ,
: JI50+50 mm . &
(0892 A._VQJ ®E AS 88
0241.645 + &g sSla®
(By .02% ﬁJln|__mo 4Ilwo 3 m. mm S8 M
W.m mw. BrE
[{m] el R
% =23 £
2 m E m m L
gd Esss2
v 3 21312
® % zscse

21.

—

o



The weights of adult male Savannah African elephants (foxodonta gfticana africana) are
approximately normally distributed with a mean of 11,000 pounds and & standard deviation of
1200 pounds, The weights of adult male mainland Asian clephants (elephas maxhmus indicus) are
also approximately normally distributed with a mean of 7200 pounds and » stenderd deviation of
680 pounds. If the weight of a particular adult male Aftican elephant is known to be 12,800
pounds, how much would an adult male Asian clephant have to weigh, in pounds, in order to have
the same standardized weight as the African elephant?

A
(B}
)
o)
(E)

6520
7200
7880
£220
B560

4.

Az part of a bear population study, data were gathered on 5 sample of biack bears in the western
United States to examine the relationship between the bear's neck girth (distance around the
neck) m_x_ the weight of the bear. Below is some of the outpit from a least-squares regression

analysis

ining the lincar relat W

neck girth and weight Which one of the

following is the correct value and gﬂmg._ﬁh interpretatlon for the comrelation coeffici=pt?

Predictor Coef SE Coef T -4

Constant ~293.3%3 19.27 -15.23 0.000

Reck.G 22.6447 0.8574 26.42 0.060

§ = 30,1994 R-Sq = 93.6% R-Sq{adj) = 93.4%

05. The correlution coefficient is 0.936, and 93.6% of the variation in & bear’s weipht can be
explained by its neck girth. .

(B}  The correlation cocfficient is 0.936. There is a strong positive linear relationship between
& bear's neck girth and its weight.

{C}  The comelation cacificient is 0.967, and 96.7% of the variation In a bear's weight can be

)
B

explained by its neck girth,

The conelation cosfficient is —0.967. Thera is 2 sirong negative lincar relationship
between & bear's neck ginth and jts weight.

The correlation cocfficient is 0.967. There is a strong positive linear relationship between
a bear*s neck girth and its weight.

5.

Company A has 500 employces and Company B has 5000 employees. Union negodiators want to
compare the salary digiributions for the tvo companies. Which one of the following would be ihe
most useful for accomplishing this comparison?

Dhatplots for A and B drawn on the zame scale.

Baclt-to-back stemplots for A and B.

Two frequency histograms for A and B drawn on the same scale.

Two relative-frequency histograms for A and B drawn on the same scale,
A seatterplot of A versus B.

J

Meakaden are an sbundant but ot
harvested commercially as & nutritional source of os._nwr”w“
nﬁmg_..uﬂ.nn._gnkogwi?on%?:g >
Jengths of menhaden are approximately pormally distribu

e tlaptic and Gutf waters that are

inedible ocean fish of the >g ﬁs.uawﬁnﬁsu?l-nrﬂg_
-:mn&ﬂaoaoaasaan_nu?.?o
with 8 mean lengih of 12 inches and

i 000 menhades, which
fation of 2.5 inches. Tf you were f0 oo!._ﬁ._ﬁa__w catch 20,
M:n“-”“!.n.” Mcm..__.aiim intervals wouid you expect to contaif approximately 8000 menhaden?
(A) Owlls? inches
(B)  5.8010 125 inches
(C)  2.80to15.20 inches
{O) 1069101331 maa-c
(E) 10,69 to 14,10 inches

An economist in a large city wanted to develop a model to estimate the y rate of downtown
office space (the percent of wvailable office space that was unoccupied) based on the monthly
rental price per square foot. She ook a random sample of various office buildings in the

d aren and 1 three models using monthly rental price {x) to predict vacancy rate
o).

» A madel using (x, ) produced a regression equation of 3 = —3.019+1,176x and the
residual plot showed srong curvature,

» A model using (x,{y) produced u rogression equation of fy = 1.3497 +.157x and the
residual plot indicated that the variance increased as the rental prices increased.

+ A model using {x, log ) produced a regression equation of log y = 0.538+ 0.038x and
the resldual plot showed no apparent patiern.

Based on the above information, which would be the most reasonable prediction of vacancy rate
i the mondhly rental price were $12.00 per square foot?

A 323%
®)  9.86%
€ 1046%
O 1.09%
B 12%

An ingurance company provides insurance policy coverage noq automobile owners at & fixed
qBaQE.SEE.._moﬂsaﬁﬁougmmr?gwgwugsaoﬁgsgﬁa
g#o&?ﬁ?!ﬂiﬁ?ﬂoﬁfﬁﬂ?«%ﬂ-5%&%9«333@82_“3‘
E%wﬂamr&:ﬂ&néi__8=§ﬁoiggi=ﬁn@ﬂs_sﬁs_u&:!_i
Egggésmﬁsiﬁﬁagg.ug.mwggngﬂ
pplics for i the company is fuced with 4 decigion based on the following hypotheses.

H,: The customer is a good risk.
H,: The custamer is a bad risk. .

Which of the fallowing represents & Type II error and its conseq for the company?

(A) .__.&ono.sgno&noagnﬁgﬂmuuiaﬁgrniﬁi?ﬁngﬂ_mmﬁ?
%%Eﬁo&:i?ﬂ%nﬁgﬂ .
B) d—unugw._&aagassssganquaﬁrnza.inworuma&:u—n?n
T, loses money. ) ]
<) y”ﬂ.«v&i@ﬂ&ﬁﬁnﬂiﬁﬁn%&&wggé._u?nrnwsn:w?;n
Inges money. ]
o) MoroaﬁwgwEn&gﬁnaﬁgﬂwhhoonuwwgrn;wugw__.anuu__..,d.u
ompeny mekes a profit.
® “,_._u8...65%&nﬂinﬁﬂiﬂsﬂmmvc&;&ngmr&w-g%wﬁaaﬁgwﬂ&
avoids losing money. )
Survey @ ple of cust the number of dogs, cats, birmE, —
fish, etc., that they owned. Which one of the following statements is true for the distribution of
nurmber of pets shown below?

. {A)  Iisnot that unusual to owo 12 pets.

{B)  The distribution is symmetrical.
(C)  Themean iz smaller then the 3&.2—.



concentrations (number of pounds per 1000 square feat) of this fertilizer, He divides a large field |

‘ ‘ A . A snore or who had noctursial coughing, and the prevalence of asthma those children. The
into 100 plots as shows in the diagram below. A swrong wind tends to blow from the east. Which results of a survey of 1043 randomly selected children aged 2 to $ arc n?«u._. below
one of the methods below should be used to assign the treatments in ocder to account for the *
wind? Snored foul or more | Snored three or less Total
Orwes perweek | times per week
1 12 3 4 5 6 7 i 9 1 Had nectwrnal coughin: 59 255 34
W11z J13 [+ [5 [16 ti7 j1s [19 {20 Had asthms 7 = 5
20 |22 |23 24 [25 |26 |27 [28 [29 [30 Did hot bave aathma or TS 375 4
31132 133 |34 |35 |36 |37 |38 |39 140 | mocturnal coughing
4] h42 143 a4 145 146 |47 |48 |49 |50 Totsl 196 852 1043
51 (52 153 |54 {55 |56 |57 |58 |59 |60 East
6l 162 |63 |64 |65 |66 167 |68 [63 |70 The hypotheses that the pedintricians used were given as:
Tl72 l7 pv |75 176 |7 |78 179 180
21 (82 133 J34 {85 |96 |87 [%0 |89 |90 Hy: There is ng association between frequency of snosing and the prevalence of asthma
01 ({92 193 J94 |95 |96 |97 |98 [99 |i00 i symploms and noctumal coughing.
{A}  Use 100 slips of paper numbered 001 through 100. Randomly draw out 10 slips and : Hy: An sssociation does exist between frequency of snoring and the prevalence of asthina
assign these plots to concentration 1, next ien slips to concentration 2, efc. : symptoms and noctumal coughing. : .
(B}  Block by columns. Within cach column randomlly assign all 10 concentrations. i
(C)  Block by rows. Within each row randomly assign all 10 concentrations. ! If the test statistic for this procedure is 3* = 22,38, which one of the following is a comrect
(D}  Testthe soil for fertility, Group the 10 plots that are most fertlle based on the testand ! conclusion? e
randomly assign the 10 conceptrations within this group. Do this random assignmext to
<ach group of 10 plots. (A}  Since the P-value is large, jation d t
(E)  Makea list of all 100 plots. Randomize a starting point with plots 1 through 10. Then - u.%_asau_rﬁﬁauﬂawizﬁnuﬂﬂgﬁ frequency of snoring and the
uu_mgmnn&q.-_353_.ﬁs&vsﬂggﬁ.guﬁiauza.l&?«ssg.g (B}  Theresults are not significant at the 5% level of significance.
Emucu:_qg_.-ﬁ 5&3:?. .EEQE.Qas_.aaaEE_EEgSEEJILL [(w] Qoﬁgassiugﬁankanab_eﬁﬂnumu.....mnn.;ﬂnno‘oo_.
i1, Tie resting pulsc rate of |} peopie was measured before and after experiencing & new thill ride (D)  Since the P-value is < 0.001, there is an association b frequency of snoring and the
atan t park. The h 4 to check the mean difference in pulse rate for sach prevalence of ashma sy q. and noctumal coughing.
subject, The results are shown in the following table. (E)  Since the test statistic js sa large, no association exists between frequency of suoring and
the prevalence of asthma symptoms and nocturnal coughing.
Subject 1 2 3 4 3 [ 7 ] 9 10 |11 :
Pulsc rate before 85 |79 |73 |76 |75 |79 |74 [67 180 162 171 1 35 >uﬁﬂoﬂ_agap_ﬁs.g%gn:oaaasiishnuﬁig.:?ng
Fulse rate sfict 23 18z [85 |82 |8 [90 [75 169 |74 32 |78 q@hﬂhmﬁwﬂfgbﬁ§<&§En§3uor¥?nroﬂnamﬁn§g§w
Which one of the folfowing test procedures would be the most appropriite in order determine it

there is a significant difference in pulse rates? j

{A) A chi-squarc test for independence.
(B) A two-propodtion z test. ) b
(C}  Attest ontoe slope of the regression line. I
(D} A two-sample ¢ iest for means.
—_ (Elsr A matched pairs ¢ test for mesns.
e — |

2. A researcher wanted to measure the sensitivity of a hypothesis test 1o detect differentes between
the true mean of the population and the hypothesized mean of the population. If the difference
wa large, she ¢ould usc o small sample size. If the difference is smull, she will have 1o increase
the sample size. This is an illustration of - .

(A)  The power of a stafistical test.

{B} A two-sample test statistic.

(C} A correlstion coefficient.

) A Type N enror,

{E)  The P-value of a statistical test, .

M. A large bakery has different products for sale. Suppose that 70% of all customers of the (A}  Theslope willd end the y-intercept will increage.
..k-.“oaa &aaam..mﬁ order cingamon roils, and 40% order both. T a customer is randomly (B)  The slope will decrease and the y-intercept will decrese.
selecied, what is the probability that they erdercd either donuis or cinamon rolls but not both? {C)  Thestope will i and the pt will
(D)  Theslope will increnss and the y-intercept will decrease.
A 2% . (E)  Nv conchusion can be drawn sincs the coordinates of the other
B) 4% , data points are unknown.
{C) 4% . .
D) 4% | 36.  Atalocal car dealership one of the salespeoplo sells an average of 3.1 cars per week with a
B 0% t standard deviation of 1.1 cars. The dealership pays her $300 2 week plus a commission of 5250
. for cach oar that she sells. What are the mean and standard devistion, respectively, of her total -~
weekly pay?

(A} $1705.00, $605.00
B) 5170500, $275.00
(C)  $1075.00,§775.00
D}  $1075.00, $302.50
E)  $L075.00,$275.00
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An airline would like to add an carly moming flight 1o one of its popular business rovtes if there
is sufficient demand. In order to get an estimate of the number of business travelers who might
use this new flight, it takes a random sample of businesspeople who bave taken one of the current
existing flights. If the airline constructs a 98% confidence interval to estimate the proportion of
business travelers who would take the new flight instead of a 95% confidence interval, which one
of the following statements is TRUE?

{AY  The 98% confidence inierval woukd be wider, and therefore less precise.

(B}  The 98% confidence imerval would be wider, and therefore more precise.

{C}  The 98% confidence interval would be narrower, and therefore less precise.

(D)  The 98% confidence interval would be narrower, and therefore more precise.

{E}  Nostaiement can be made about the width and precision of the 98% confidence interval,

A company has been running television commercials for a new children’s product on five
different famity programs during the evening bours in & large city over a one-month period. A
random sample of families is taken and they are asked to indicate the one progeam they viewed
mast often and their rating of the sdvertised product, The resuhis are sammerized in the table
below.

Family Frogram
A B C D E
: Excellent 23 9 42 48 51
Product Good P 33 44 33 49
Rating Falr 3] 29 25 .16 10
Poor 38 | 3 25 18 12
The advertiser decided to use a chi-square test to sec if there was a rclationship between the
family progs jewed and the product’s rating, What would be the degrees of freedom for this
tegt?
(A} 3
@) 4
(C) iz
(D} 1 )
(E) 19 e ——

9.
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A niational petail chain wants to test-market B new product line; bed and bath accessories created
by a nationally known clothing designer. The chain has approximetely 1500 stores across the
country. The locations of thess storea are downtown in urban cities, are in suburban shopping
malls, or arc atand-alone stores In medium-sizs cities. The chain decides 1o randomly select 5% of
its downtown stores, 10% of its suburban stores, and 5% of its small-city siores in which te test
the product line. What type of sampling method did the retall chain use?

{A}  Simple rendom sample,
{B)  Systematic sample.

{C)  Convemience sample,
(D) Cluster sample,

(E)  Stratified sample.

Which of the distributions below has the larger standard deviation

(A)  Distribution A.

(B)  Distribution B.

{C)  Thestandard deviations are squal since the means are equal.

(D)  The standard deviations arc equal since the ranges are equal.

(E)  The standard deviations are cqual since both distributions are symmetric.




